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2AM: HE D

M GFMEEHS
©: XYM== (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& ot 3,328,155 3,680,415 352,260
A= as 558,335 587,223 A 28,888
NLHE &S 558,335 587,223 A 28,888
ANLAES 301,826 271,844 29,982
101 @14 dl 13,374 12,940 434
04 JI2ZtHZ22HEE =+ 13,374 12,940 434
OXNLHXEUALME HIDAZH LHZEA
(60,2402 »12H %1832 )+(60,2402 12 39 ) 13,374
201 LBt 217,853 191,434 26,419
01 At 22l 103,280 97,331 5,949
OXZAMEA DXM X2 26,600
Oget==EH| 70,000
OXNEAN DHZEHI 428 WX 5,000
o2g+g 1,680
KA & s 70,0003 12 »23] 1,680
02 =24l 114,573 94,103 20,470
OXNYNMIXAN SgEZ 95,462
OXZEAN DEHZEH RAE=Hl 4,344
OXN&AN HR0ls 23t RFE= 4,767
OXZA ARS 2HEERAAE S22 10,000
202 044l 16,600 16,600 0
01 = LH o4 1l 16,600 16,600 0
O 2d gsAR 40,0003 x10H 16 6,400
O2A=& 0| 4,400
OXNEA e & NHME MBXZA
40,0003 x2H 352 2,800
OX= MHO stotg 3te &IHoitl 3,000
203 YR =] 3,000 3,000 0
03 Al Z=A Y 2= 3,000 3,000 0
ONESRAIMFX 3,000
303 L&t 3 6,000 6,000 0
01 243 6,000 6,000 0
OXEgA = 2+ SHS AlY 6,000
308 XtXIEHHSOIA 44,999 41,870 3,129
10 I 2 SOCHetE & X 2 E A I 44,999 41,870 3,129
OX&A BESAIY AS | 44,999
e X2 AE = 48,521 120,084 AT1,563
101 @124 dl 13,374 12,940 434
04 JIAH2RNEES 13,374 12,940 434
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SA-EHH .o (3H) - NRAY - BAS il HDS2
OXNSIAN MEXHE IXNEX
(60,2402 x 1 1832 )+(60, 2402 124 %392 ) 13,374
201 Bt A | 27,747 22,744 5,003
01 AP 22l Yl 13,460 13,460 0
OXNEA HEX MY ™24 5,000
OXNZLAM MEX ME2EEXS MEZ 3,960
OXNLA HEERE AIB =22 1,000
ONMAHAZE =2 3,500
02 =294l 14,287 9,284 5,003
OXAH AMAE KA B 4,280
KA JFAAHIE AIAE KX E 24| 4,280
OHSE IIAAE SN2 10,007
ASFEHE HSH AXAIAE S E4H 4,260
AXAAE DEF AL H| 3,516
BLSERHE RAE> 1,751
PHY NFHAIME A SRS
40,000& =12& 480
202 04| 7,400 7,400 0
01 2LHOHI 7,400 7,400 0
OXNgAM 2= dH=E 7,400
Mo +=ge&dae 64,064 66,200 N2,136
101 @1 21| 13,374 12,940 434
04 JI2ZtHIZ22XNHSE 13,374 12,940 434
OM2A=g XMEges 92 2X
(60,2402 x 1 %1832 )+(60,2402 124 %392 ) 13,374
201 LEt2 Y| 17,020 21,060 A4, 040
01 AR 22| bl 11,740 15,060 N 3,320
ON2+=g 22 Letx=3H| 1,000
OM2=+e MEX 838 X3 3,960
OM2A=e MEX dOgI 1,100
OM2 =2 DXA HE 70,000& 408 A 2,800
= 2| 8,000 x5 9 x8 & 2,880
02 =294l 5,280 6,000 AT20
OM2£=e DXA sEE=
330& *4,000H *43] 5,280
202 (4] 6,200 6,200 0
1 = LH O B 6,200 6,200 0
OMA=e MEds dHNEE 4,200
O&d=s==5d 22A2E L MY+ AEF 2,000
303 ZAZ 4,000 3,000 1,000
01 A2 4,000 3,000 1,000




- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ON2se & 24258 YL SIX A4 4,000
308 XAHXIGHHM SO0l & 23,470 23,000 470
10 B 2SO USE AN E AIS Y| 23,470 23,000 470
OMNE=LEEAIAE KX 22| 23,470
HE F=EDIA XA 143,924 129,095 14,829
101 e1214| 44 247 38,018 6,229
04 JIZtHI22XNEES 44 247 38,018 6,229
OMNE FEeHIIHA EH XA 88,492,560 x50% 44 247
201 LBt 9H]| 91,077 91,077 0
01 AP 22| H| 91,077 91,077 0
OMNg=eidlA A==22(1.1/6.101F)
137,682,800 *50% 68,842
OFUSHIMNES 22EPY
10,000, 000& *x50% 5,000
O2=zH ESX el 5,300,000& *50% 2,650
OEzH &3 ¢ 200,000& *10= *50% 1,000
OMEFEIIY &F 2ZEH S8X2Y
1,600,000 *50% 800
OMBFSINATA &40 L YATRIE
6,720,000 *50% 3,360
ORSH JNATAIY 294+Y
2,800,000& *50% 1,400
OMNE FEIIH ALY O =H|
200,000 15" x50% 1,500
O3] 6,300,000 *50% 3,150
OHg e S5 T2 SAE4H|
150, 000 x 12& *50% 900
OMNEZEHIIAETAL ALR A HAZHI(SR)
1,650 %204 *150L *50% 2,475
202 o4 | 1,600 0 1,600
01 2Ll 1,600 0 1,600
OMNEFEHEHL X XZA 20,000 »42H x20 1,600
405 XHo&HF S HI 7,000 0 7,000
01 AL E B F S| 7,000 0 7,000
OMNEFHEHLXIAI E2H Ty ¢
7,000,000 «1CH 7,000
S| HI i AF2E2] 2,708,100 3,032,072 AN 323,972
TH A2 2,591,206 2,939,437 A 348,231
2SS AL 22,844 20,410 2,434
101 2121 H] 13,374 12,940 434
04 JI2tHIZ2 2 NEE S 13,374 12,940 434




2AM: HE D
2 ST At2e

el Taratel (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O3FMA AEHEA HREX
(60,2402 124 «1832 )+(60, 240! « 124 «39L! ) 13,374
201 Bt A | 3,470 1,470 2,000
01 At 22l bl 3,470 1,470 2,000
O3FMA Ao 70,000& *7H x33] 1,470
O3] 8,000& x5 x50 2,000
301 LprE A 6,000 6,000 0
09 AL HIBAZ 6,000 6,000 0
O2HA JIEHA AHI 24 6,000
22 A2 2,368,362 1,119,027 1,249,335
101 2124 4| 5,061 0 5,061
04 JIZtHIZ22NSE S 5,061 0 5,061
OJIZ2MZ22XNEE S 5,061
ANEBAIS S3EAMN HME=ES
60,240& x6H *x6 3] 2,169
ANEBAIS 22 A ZHSE 22
60, 240& *8H x6 3] 2,892
201 2yt 2 Y| 985,801 676,027 309,774
02 53294l 985,801 676,027 309,774
03322 % XA 767,801
ANEHAL Mol=22 Z2H b 196,661
Mol E AIESE 54,840
- Al EHA 23,000
- 9|3 HAH 12,000
- AT AIEAHS 16,450
- 2)AIE A 650
- )9S HA 2,740
HA HIIR3 442,600
- Al EHA 267,000
- 2|3 HA 150,000
- F)EEA 18,000
- )95 H A 7,600
O|3[EAL Yt JIARS 52,000
INE=PNU. | 3,300
SHINEEREE 2 6,840
- s Xt 840
- A= 6,000
HAHE AL D ELLES 1,000
ANsSX ESE€= 10,560
OA&E Z&Hl |Aldl 153,000
Al & A 120,000




DA
© OB A THAR2E R

LR (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
°|3 HA 33,000
O Xt 65,000
206 M= Hl 22,500 13,000 9,500
01 =8l 22,500 13,000 9,500
OMZHl 22,500
Ar2el JIAHANEES M2 Y
5,000,000 » 14! 5,000
Arztel A8 2 ASAELES NS
4,000,000& =14 4,000
Atz ARHHINES & JEBHNMAY
7,000,000 » 14 7,000
ol FAEel JIHANMEEE ML
2,000,000& » 14l 2,000
oA A X ASAELES MM P
& 1,500, 000& 14 1,500
A 229 HIIES & JIEH X
= 3,000,000 14! 3,000
401 Al HIZ 201 8] 1,310,000 430,000 880,000
01 A& HI 1,293,952 428,920 865,032
OFAN E=3At 250,000,000& *99.28% 248,200
OFAN == W2 =8dZ Wi
50,000,000& =14 50,000
OAMEBA SFEEA ABAIE HHIZSA
30,000,000& =14l 30,000
OANEAL BEFH 1D SESA
590,000,000 *99. 28% 585,752
OFAL 24 2= A 230,000,000 =14l 230,000
O=& ALR4 THHHXI S A 80,000,000 14! 80,000
OANEZE 2 |22 S A 40,000,000& * 14 40,000
OFUAE FHALE E= 0
OFUAE F=EAILE B 30,000,000& =14 30,000
02 Zteltl 10,000 0 10,000
OANEAL BEFE 1D SESA 10,000
03 A& =TI 6,048 1,080 4,968
O&AM=& L E3 At 250,000,000& *0.72% 1,800
OANEAL BE5FE 1D SESA
590,000,000& *0.72% 4,248
405 XtatFE SHI 45,000 0 45,000
01 AR ESFH S 45,000 0 45,000
oxg 7¢ 45,000
g2 sEXNE 45,000
AL = 200,000 0 200,000
401 AIEHI L 20 200,000 0 200,000




2AM: HE D
2 ST At2e

CHRl: THAEZEE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 200,000 0 200,000
O&tns HEEXNME AF2A £ HH|
200,000,000 « 1Al 200,000
3| H 2 73,624 53,699 19,925
S AH&2S2H 73,624 53,699 19,925
101 e1214| 13,374 12,940 434
04 J|12ZtHIZ22NEES 13,374 12,940 434
OHNS0llat 8 dRE X
(60,2402 *1H x1832 )+(60,240R 1 392! ) 13,374
201 et d| 57,000 36,884 20,116
01 AFR 2t 2| 4| 57,000 36,884 20,116
OZ2MZEAI G £E 100,000& x5 x20L 10,000
OZ4&AN & EFE2EHF M
50,000 x23& 1208 12,000
OMSEDM Mg L AE $48
8,000,000& x23| 16,000
OZAMBEAMAAN L XEAIS M Z D oM
20,000 x23& 1008 4,000
OZ 4 HotEY SolM oy 20,000& 1008 2,000
OHNSollar & & HAL S 2| 3,000
OEJIIXAH AU =2
10,000,000 *13] 10,000
202 o4 | 1,000 1,000 0
01 2L I 1,000 1,000 0
OMHOY U ZURY S BSANS 2ASEH 1,000
301 et A= 1,500 875 625
09 HAIAHIBEAZ 1,500 875 625
OZMHAIRIE WU 300,000 x5 %13 1,500
307 2I2t0| ™ 750 0 750
12 QI2+01 2 & 1) = H] 750 0 750
OZMAANTIE S DRY L= 750
Hekze| 43,270 38,936 4,334
Htze 24 43,270 38,936 4,334
101 Q121 H| 13,374 12,940 434
04 JI2ZtHIZ22NEES 13,374 12,940 434
OHStzte T2 odaag X
60,2402 123 x1832 )+(60, 240 x 13 39! ) 13,374
201 et 29,896 25,996 3,900
01 AFR 2t 2| bl 14,296 10,396 3,900
OHAAMORRAZ G LE 70,000& *10H 73] 4,900
O&XEI D (2re) 6,000




2N
DS AITH A2 e

X ZH
S =

HE

el etz (29l & 2)
SN BA(SA) - MRAY - BES il HImEET
Ocla ItEe 99,000& *4H 396
OAHR 3,000
02 =224l 15,600 15,600 0
OAlet2el 550,000& »12& 6,600
OOtk A A2
350,000& »12& 4,200
OSS 2 (RFID HEXAAAE SXE %
400,000 x12& 4,800
HY2AZH (A 61,720 61,120 600
[2ZH (&) 61,720 61,120 600
JI2ZH(HE 1) 61,720 61,120 600
201 ¢4l 8,000 8,000 0
01 At 2t 2l 8,000 8,000 0
O= 2| 8,000
202 044l 48,200 48,200 0
01 = LH o4 1l 48,200 48,200 0
OMEL HR= 48,200
203 ¥ S =&l 5,520 4,920 600
04 2N2EY 5,520 4,920 600
OoRMEY 5,520




